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Linear Inequality

Similar to a linear equation, but uses
an inequality symbol

Solution: All of the ordered pairs that
make the inequality true



Determine which ordered pairs are solutions to the linear inequality below:

2x-3y <15
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Graphing linear inequalities is a way fo show ALL the
ordered pairs that are solutions! Steps to graph:

— | Put the inequality in _S% lfTWCC_P"' form.

-

5 Be sure to flip the inequality symbol if you multiply or divide by a
(negativehumber!

Graph the line!

3' e Usea &L—:E—b ine foré c:r2 symbols.

- o sea DOﬂEb ne forL or > symbols.
Shade!

2. e Shade ng/6 the line for -z or 2 symbols.

s  Shade beJDuJ the line for < or = symbols.




Example: 2x-3y <15
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